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HH: soEM Us
9l SR A PE A CLE-E)
SA - EH .S (BH) - MBAY - B Ofl A o4 gggf; HRS2
306 == 300,000 500,000 A 200,000
01 42 300,000 500,000 A 200,000
O 294l & MXatHe] 43t 300,000
SgoESHIE £ sHEEG =& 22,061,682 16,738, 184 5,323,498
= 10,655,200
= 14,653
& 11,391,829
SHsgosy 69,520 67,150 2,370
= 61,600
= 7,920
308 XXX SOIA 69,520 67,150 2,370
= 61,600
= 7,920
01 XXNHHBIAEXZ 69,520 67,150 2,370
O FEHsdes8 (8, EAHUM)
5,500,000 * 16 *79% 69,520
- 61,600
== 7,920
SOl NeEHA 515,000 470,660 44,340
= 67,500
= 447,500
307 QI2t0IA 515,000 470,660 44,340
= 67,500
= 447,500
05 oIt 515,000 470,660 44,340
O 2HsAADF(HYS AASHS) 135,000
= 67,500
== 67,500
O #HIl=sgI3INLE
2,500,000& *1902! *80% 380,000
SHIGHEEX A 716,800 896,000 A 179,200
= 640,000
& 76,800
308 AHXIEHHMSOIHA 716,800 896,000 A 179,200
= 640,000
= 76,800

no




S SYEU
B soime Usl
ol =QloldS A U SARDS =X LR
SA-HH O (SIH) - NEAY - BaS 0f Ao Soe HRZ2
01 XXNHHBIAZXZ 716,800 896,000 A 179,200
O sAFYALYN
8,000, 000& x1607H 2~ *56% 716,800
= 640,000
< 76,800
SNBSS 57,850 57,850 0
= 44,500
= 13,350
308 AXISHHMSOIA 57,850 57,850 0
= 44,500
== 13,350
01 XXNHHBIAEZXZ 57,850 57,850 0
O g0 3835 s 89,000, 000& *65% 57,850
= 44,500
< 13,350
HAROLE=HI XA 9,687,600 7,540,777 2,146,823
= 7,452,000
== 2,235,600
308 AXIEHXSOIA 9,687,600 7,540,777 2,146,823
= 7,452,000
= 2,235,600
01 XXNHHBIAZXZ 9,687,600 7,540,777 2,146,823
O YROIYSHIXI
138,000& *9, 000 * 12& *65% 9,687,600
= 7,452,000
< 2,235,600
S HE2d 1,152,000 650,000 502,000
= 960,000
== 192,000
308 AXIEHXMSOIA 1,152,000 650,000 502,000
= 960,000
= 192,000
01 XXNHHBIAEZXZ 1,152,000 650,000 502,000
O ESH20S 1Y 29
80,000, 000& *x10JH & Dk *28F J| *72% 1,152,000
= 960,000
< 192,000
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sAAYA Y3t
SUOINSHN U SAYDH £ (S5 & 9)
o - o HAc
N33 S2(3H) - MEAMY - BES Ol &+ 9K Ol AF o8 Hws2
SHESLS™EN F2X 506,925 484,318 22,607
308 XHXIEHH SOIH 506,925 484,318 22,607
01 XASHILRES 506,925 484,318 22,607
O 820282 2 X2
6, 70021 +12, 6755 122 *30% 305, 721
O 552842 7S Y
6,00021+9, 3155 122 x30% 201,204
solol =X &L X 6,915,667 6,182,889 732,778
= 14,653
= 6,901,014
308 XXIEHHSOIH 6,915,667 6,182,889 732,778
= 14,653
= 6,901,014
01 NASLHILZES 6,844,180 6,111,402 732,778
O SDIAMEY X 4,510,000
O =2t220 X8
35, 00021 *550% #4521 *12% 103,950
O sgox X2 M
850, 0002 *13, 1198 x20% 2,230,230
06 DEIIBUHESRES 71,487 71,487 0
O HYsTA ZaH N 71,487
= 14,653
= 56,834
=Sl S4 797,000 297,000 500,000
307 2120l 297,000 297,000 0
02 LAANBE 297,000 297,000 0
Os2AYel 8s X 126,000
OOl 52015l X 115,500
OO0 X 50,500
OM S0l RS 5,000
403 RASHSKZ0IH 500,000 0 500,000
01 RXESHKELE 500,000 0 500,000
OR0 59 RSHE L YA A 400,000
0L =AYl 32 FY| 100,000
SATAME T4 67,800 91,540 £23,740
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SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ Hws2
307 eI2t0lH 30,000 30,000 0
02 SIAFAEE 30,000 30,000 0
O =AZATNAHE X & 30,000
308 XXIEHSOIH 37,800 61,540 123,740
01 KASHMBLRES 37,800 61,540 123,740
O ClEsQXIAME X2
120,000, 0002 *37 4 10.5% 37,800
25" 33 IS 1,575,520 0 1,575,520
= 1,429,600
= 145,920
308 KHXISHHISOIH 1,575,520 0 1,575,520
= 1,429,600
= 145,920
01 KNASHMBARES 1,575,520 0 1,575,520
O M8l E41S 1,575,520
- HESI HEF 7E
200,000, 0002 774 A +86% 1,204,000
2 1,120,000
= 84,000
- MEEY H21S 516,000, 0002 *72% 371,520
2 309,600
= 61,920
SEXE oZet 75 21,542,992 19,519,860 2,023, 132
= 295,800
= 18, 108,000
= 3,139,192
NAsoiZAH 2435 X 3,117,000 2,090,000 1,027,000
= 2,400,000
= 717,000
201 er2oty| 10,000 10,000 0
= 10,000
01 At 2teldl 10,000 10,000 0
O NesH2AAH 84 10,000
2 10,000
308 XSSOl 936,000 416,000 520,000
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HESZEAME XA

200,000, 0003 *137H 2= *65%
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,690,000

,690,000
,300,000

390,000

H

H

233,492
145,800
87,692
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SHAI/MSA A5
S=Te e 1= LR
K- B3 S (3IH) - NEAY - Ba 2 0f Ao Soe HRZ2
= 45,000
= 13,500
O Esus =i 10,000, 000 & #2004 A~ x25% 50,000
SrSESANEU=ZA 895,000 495,000 400,000
= 150,000
& 745,000
308 AHXIEHHMSO0IA 895,000 495,000 400,000
=2 150,000
< 745,000
01 AXSHHIABEZ 895,000 495,000 400,000
O 2FsEsrY=2X3 300,000, 000& *65% 195,000
= 150,000
o= 45,000
O "YAE AAL X 700,000
ABIOISAIEEUE K& 578,000 700,000 A 122,000
403 RXISHSKH=01H 578,000 700,000 A 122,000
01 AXESHMA2EEX 578,000 700,000 A 122,000
O FTAHE =42 JI2A& stist X
2,312,000, 000& *25% 578,000
=2 sA 15,029,500 14,390, 700 638,800
g 14,408,000
= 621,500
308 AHXIEHMSOIA 9,785,000 4,761,800 5,023,200
g 9,559,000
& 226,000
01 XXNHHBAEXZ 9,785,000 4,761,800 5,023,200
O MNEHEAIL XS (BAIZ) 8,729,000
7 8,729,000
O SEAY SH(6AIZ) 1,056,000
g 830,000
== 226,000
403 XXM SKE0lH 5,244,500 9,628,900 N4,384,400
g 4,849,000
== 395,500
01 XAXESMASEEX 5,244,500 9,628,900 A4,384,400




_ _ HE T
SR (SIH) - NIRAY - BHES O AF K Ofl At ot HwsZ

ENENETCNES) 3,171,000
i 3,171,000
st S 4 (6N T) 906,000
2 705,000
= 201,000
S22 SHBAR) 1,167,500
2 973,000
= 194,500

SREPEMA 2,805,750 6,524,030 £3,698,280
= 1,403,000
= 1,422,750

HEf &% X 2 1,719,000 4,227,030 A2,508,030
2 1,403,000
= 316,000

403 XX SHEX20H 1,719,000 4,227,030 A2,508,030
2 1,403,000
= 316,000

EEES 1,719,000 4,227,030 2,508,030
O SMSMNRSHE S X2 1,719,000
2 1,403,000
= 316,000

S 458,750 1,188,000 AT729,250

HS 20l & 458,750 1,188,000 AT729,250

NECES 458,750 1,188,000 A729,250

SA2 REAM HHSAIL X

1,835,000, 000! *25% 458,750

o =iy 5 408,000 869,000 ~461,000

29| 40,000 40,000 0

B 40,000 40,000 0
S 22 2 ") =3 40,000

& 290,000 725,000 435,000

EES 290,000 725,000 435,000
E=DIEYSIbNE! 40,000
Sa2 22 2 MY = 250,000
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SUAMH A3
SMSREIENM
- _ _ HEE
SN BHG(SH) - NRAY - BES Ofl &t ¥ 0l At o
308 XIXIEHHSOIH 78,000 104,000
01 XXSHILEXZ 78,000 104,000
O sSa2 VEaAE 210,000,000 *30% 63,000
O =0 BHEX 60,000, 000! *25% 15,000
M2 IIREME 84 240,000 240,000
308 XiXIEHHSOIE 240,000 240,000
01 XXSHIAExZ 240,000 240,000
O SHSNYLUES LA 240,000
HHSAAH (L E D) 81,120 81,120 0
22| 10,200 10,200 0
SEX| 10,200 10,200 0
203 YPEA| 10,200 10,200 0
01 JZA2IYLEAY| 6.000 6.000 0
o= 6.600,0002 -600,0002 6.000
04 EASHLLFTH| 4,200 4,200
OsLYHUY Y2 =X 4,200
=2 70,920 70,920 0
23| 70,920 70,920 0
201 Ler2g| 36,000 36.000 0
01 At222H| 36,000 36,000 0
OsgyMA2EX 36,000
202 Ol 34,920 34,920
01 =LHoIH 34,920 34,920
Oy FT 34,920




